ey
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8. sesmanEEs (Rhombus)

15. @088 (Pyramid)

BIE (8 BB o

Yod)dew wnm(s e on, 3 @ renn mnd | eaiais

1. jFemrnense (Scalene triangle)

i)

Szlbh
2

vingn|P=a+b+c

S=a’sina

S:b><C a
2
c e G

2. jFemmasise (Right triangle)

151G

Szlab
2

vingp |[P=a+b+c

fifmge

c=+a’+b’

vinp [P=a+b+c+d|

_—
9. SRR (Trapezoid)
b
S:(a+l23)><h /. ;
a

—

83s) (Circle)

3. &6

RNESBIE (Isosceles triangle)

151G

S=1bh
2

U

-1
2

g
4. sEemrnesses(Equilateral triangle)
1 a’\/3
iginen |S==ah =
BN 5 4
v |P=3a
ngag  |h= ga

12 jsensiidaise (Rectangular box)

igaIY |S =2(ab+ac+bc)|

i

gy |d = \/az +b? +¢? STt

5. #65 (Square)

=axbxc a

wna

Gaiu [S. =S, +S,

17. segg)sshes (Circular Sector)

wiihg

igAeN

18. isapigSanasias (Segment of Circle)

ZEN
A

ik

S =%r2(0—sin 0)

19. 5835 (Prism)

0na

i

it P shoTopon

23. SRR (Frustum of a cone)

e

gow |S =za(R+r)

v
[$=2

Iy |sT :;ra(R+r)+7zR2+;rr2|

0ng |y :%h(R2+r2+Rr)

Ig;

24, Hnsaangs

ng -y :g(sB+sb+ S35, )

jusg AMGiFeim:meginma
imsahid 4

25. sisgesinmifiman

abc
R:
4Jp(p-a)(p-b)(p-c)
T p:E: a+b+c
2 2

26. ssgesingefimen

- [(p=a)(p=b)(p—c)
\ p

ng [V =g7zabc

e
T

HIHEh

d=a2

13.68852 (Cylinder)

6. ssmrnine (Rectangle)

ign [S =axb

uinp

HUH{EH

P=2(a+b)

d =+/a%+b?

7. 156581359% (Parallelogram )

2

intnep [S =bh =absin 4|

vinp

S; =zr(l+r)

P=2(a+b)

V—l

S;h=arh
3

3

20.65358% (Ellipse)

uivIp

igen |S = xaxb

P=27 /%(a2+b2)

21. Sa5sennsas (Segment of aParabola)

, 2
iingn | S :gx axb

22. sHwe (g inggniis g AndniFve)
0ne

28. Sanestdd (n§sid) (Spherical Cap)

mepig: [S =27Rh

GEL LY zgﬁth

ngHiGu v =%nh2 (3R—h)

S:lnrzsinz—”:lnrzsinﬂ
2 n 2 n

. T .
P =2nrsin—=2nrsin
n n

180°

31 siggeas

waV = 7R*h = zR%(sin 4

27Rh
sin@

g |S =27R(=

o

T
S=nr¥tan==nr?tan
n

o

P=2nr tan£ =2nrtan 180
n

33 josgisisossnegeftman

ma=%\/2b2+202—a2
1 2 2 2
mb=5\/2a +2c°-Db
1 2 2 2
mcz?/Za +2b*—c

34, sssgisicengsss

3

sSgeFimen

2bc A
(,=——-C0S—

b+c 2

2ac B
(, =——-C0S—

a+c 2 \
[c :Lab.cosg B

a+b 2

35. sosnmikis (sesema) (Octahedron)

0 Vzga3 ‘
A

9

36. 55t | RemRN I A5 essSIs S Sqs

S=1bcsinA B
2

S:EacsinB /\
2
1. .

S:EabsmC A b C

37.ssigiFimanmsmsissginie

%

ifmanEnsindisiiiman
IMNGHRANNIZIVANNSMY c a
JUYSING B8 P AT

b
s=yp(p-a)(p-b)(pc)

38.suigifimnnmssasgraietiideds

B
S =1‘EXE‘
2
S:l‘ﬁxﬁ‘ /\
2
A C

S :E‘C—AXC—B‘
2




39.ssigsFimnnonngeiee

b)

=7

fimanoinhmimsn R

mme ifiiiman

S=

abc
4R

46.igerniciusionme Resinnsadassig: [a,b]

b\ "X

s=|[f(x)ax=[F(x)] =F(b)-F(a)

iﬁﬁﬁ'i,ﬁj“mﬁmqmm?ﬁ 47 igesnssinsnsaas Seigarniiiwssgaseds
puydinumn sw sy

é,b,c,d §hms‘p y y=f(x) y (x)
Mg UTNHNSIAMS | £\ / 4‘~ )
gy | a b X -
s=\(p-a)(p—b)(p—c)(p-d) S = f ()~ f(x)x S=L[f(w—

4] oSSt ESoas yT 9(x) y ”
— A D
V:‘(ABXAC)-AD‘ 2l o] - £(x)

W B b X

s=['[(x)-g(x)Jix

42 srzsEgnifinas B SSeas

VABCD

-3{Eac) 20

U

43. st g S EmRnISIs N S SRS 8l

dg‘i‘.yﬂﬂ

V= [f(x)]

i d, , d, Magagh

issRiman mnsigiign

:%dldzsina

49. mossBasishugassRnSssSmsinsnsaes

<

44 sstginifimnnesiesan

RHHHECARHGRIISS

X %
S=E71% Y,

SERE

1
1
1

whiinig S >0

1060 Y2)

(xi,y.f) .............. .
0] X

|
: k X
Yl

\Y :n.[:[fz(x)—gz(x)}dx

a

45 ignssmantesaEme N

itigtd)

S =1na2 cot™
4 n

s

50. soasBasisESasS Sy
y
x=9(y)
) X
ngaydnuligtimdnmnnis)y :”Id[g(x)fdy

51.smipiseginugasdgessig: [a, b)

y

o)

1| AB :J.:\j1+[f'(x)]2 dx

withg

57.g%es (Torus) swesige r Sestesd R

52 szisistisnEiesas o

V =5.h

u

53.igsfmnnieis

o~

15

<

1Suec =(A+B+C—7)R?|

ig S=3‘f5(5+2\/§)az
g |g 15475
4

60.¢gssanasnda (Cicloid )

Ui

g d4d,
2
P=2(a+b)| 9

S=3ra?| . Wwitgisdpin 9

55. igpememaswdsinefenses

1,

&

61. jssése £=8g Hypocycloid with Four Cusps

igewm

S, =R(h +h,)

nHis

2
S, = 7R, |R? +(¥)

S=S, +S,+2R’

V =

7R*(h +h,)

S :§7Z612
8

uin
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63. mssisnaEsise

1Tm tﬁh%ﬁiﬁ -10%m 1 106§ =16 km =400 f8
1Gm (i) =10°m 1 8% = 4 km

1Mm (BMTEER) =10°m 188 =40m

1Km @gfisg) =10'm 10NY =2m

1hm UIBHIBEH) =10°m 11H =050 m=ng:n
1dam (EMIBEH) =10'm 1608 =020m

1dm GEMiBH) =10t m 180 =010m

1em (EMIGEH) =102m 1% =001m

1mm @GiHH) =10°m 1 Mjf =100 &3S

1um BIBEH)  =10°m 1 i = AiRdida oGy
1nm (AMANIB{E) =10°m 1in8in =1 0§

1pm (AfidE)  =10%m 1Ml = 2m

1 inch (M) ~2.54 cm 10 =1 §§apnuin

1 yard (1) ~0.9114 m 16my = 12 MU

1 mile (W) ~1609.344 m | 1 feet (Uf) ~0.3038 m

1 mile (1t19) =1760 yd (t) | 1 m=10"A° (f[agh)

1 mill, mrin §n)=1852m | 1 yard (tn) = 3 feet (Ut)
1 foot (i#) ~30.48 cm 1 510§ =9.46053x10"°m

64. mssisEsig

1Tm? =10%* m?
1Gm? =10"* m?
1 Mm? =10% m?
1Km? =10° m?

1mm?=10"° m?
1um? =10 m?
=10""m’
=107 m’

1 nm?
1 pm?

1 ha (U168)=10* m?
1a (M) =100 m?
1 ca (f§m)=1 m?

65. MmssisHEmS

1 ims (Mih) =

1 108 pound =0.453kg
1000Kkg
1 TM8(HAIE)=1016.05kg

1Tm*=10*m® | 1mm*=10°m*® |1 ¢=1000 ml
16m* =10 m® | 1pum’=10"m® |1 mm®=1cc
IMmM?=10%m | 1nm*=10%m* |1 ml=1cm?®
1Km*=10°m® | 1pm*=10*m® |1 M8 =230/
10=1dm? 1h(=100 ¢ 1dal =10 ¢
1d¢=0.1¢ 1¢0=001¢ 1m( =0.001 ¢
lcc=1cm’ 1§8=01m’

66. mssisHDEses
1kg =1000 g 1UNU=60kg | 1UIS=0375¢g
1hg =100 g 164 =30kg | 1M =00375g
ldag =10 g 18W=30kg | 1 UNU=28H
19 =0.001 kg 1id=15kg | 106 =21a
1dg=0.1g 1919] =600g| 161 =2ngn
1cg=0.01g 1689 =375¢9] 196] =16n8h
1mg=0001g | 1f=375g 10f0 =108
IN@A8~100g| 1fi=1018 | 1U]s=10@
1 kg =10 & 181=100g 1631 = 50 9]

1 kg =35.273962 ounces 1H18
1 1M8 (NYIB) = 907.18kg
1fight = 2 586

67. mssisngssie?)

1 [jiURA = 20 o§h
1§ =12 =65
11 =10 A
18 =10 fius

1picas =4.217mm

118 = 2 WA
18=025¢

1 MA =101008
181 =10 58

1 16(H}) = 50 kg
11t =10 N
1801 =4

106 =100 g (§)




